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1. {a)  The following information relates o Piller Manufacturers for the first six months of the
year ended 30 Jupe 2018:

2018

January
February
March

Machine hours Machine maintenance costs

6,800
6,000
7,200
7.800
8200
6,200

(ksh)
376200
374,000
377 900
380,100
382 800
375900

(i) Uzsing the high-low method, estimate the fixed element and varable element of
the machine maintenance costs,

{ii)  Formulate the machine maintenance cost equation in the form: y = a + hx.

(i) Lising the equation in (ii) above, estimate the machine maintenance costs for
July 2018, if the estimated machine hours are 9000,

(9 marks)

(b Tonik Manufacturers Limited has the following estimates available for the preparation
of the budgets for the last quarter of 2018,

2018 Sales
(onits)
August 160
September 420
October 480
Movember 510
December 550

Additional information:

(kg
490
210
350
390
4500

*  All purchases and sales are on credit.
*  The selling price per unit iz Ksh 1 0K} and the cost of raw materials is Ksh 100

per kg.

#  Debtors are allowed one month’s credit,
*  Suppliers are paid after two months.

» Direct labour is paid on a monthly basis.
»  Owverheads are paid one month in arrears.
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{Ksh)

T0,000
92 500
1 30 000
175 000
115,000

Purchases of  Direct labouwr Owverhends
raw materials

iksh)

47 (00
68,000
7 000
B6.000
74000
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= The company will pay dividends amounting to Ksh 630,000 in the m::unliI of

December 2013.
*  The company will purchase and install CCTY equipment in October 2018 for

Ksh 170,008. A deposit of Ksh 120,000 will be paid immediately and the balance

of Ksh 50,00 will be paid in the following month.
= ldle premises will be leased out at Ksh 240 000 in the month of December aind

cash will be received immediately.
=  The expected cash balance as at | October 2018 is Ksh 76,000,

Prepare cash budget for the months of October, Movember and December 2018,
{11 marks)

,2{ {a) Explain four assumptions of cost-volume-profit analysis. {8 marks)

(b}  Genery Limited intends to invest Ksh 1,100,000 in a project.

The following information relates to the project:

eai Net cash inflows
(Ksh}

| 300,000

2 900,000

3 00,000

4 100,000

(i) Determine the Net Present Yalue of the project at each of the following discount

factors:
(n 5%
(i  24%
{1i) Using the results obtained in (i) above, compute the Internal Rate of Retum
{IRR)} of the project.
{12 marks)
3 {a)  Texus Limited intends to either manufacturer a product or purchase the product

from the market. The probability of the manufacture being successful is 0.7. If the
manufacture is unsuccessful the estimated loss will be Ksh 2 000,000, If the
manufacture is successful the outcomes and their corresponding prebabilities will be as

follows:
Outcome Probability  Profit
(Ksh)
Crownad 03 LR LY
Moderte 0.5 4. 000,000
Poor 0.2 250,000
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If the product is purchased, the expected profit will be Ksh 1500 000,

(i} Diraw a decision tree (o represent the information abowve,

(i) Advise the management on whether to manufacture or purchase the product.
(8 marks)

(b} The table below shows the time, in minutes, taken by three employees; Peter, Cueen
and Robert to complete three tasks A, B and C.

Tasks
Employee A B C
Peter 24 15 !
Cueen 17 19 15
Robert 8 9 25

Determine the :}pﬂn!ﬂl allocation of tasks to the emiployees in order to miminuze the
time taken. (12 marks)

j-’.' ia)  Explain four Managerial Accounting decisions that may be made by a firm in relation
1o the marketing of a product. (8 marks)

() Halisi Limited manufactures two products, X and Y at different factory sites.

The following information relates to the products for the year ended 31 December 2017:

Product X  Product ¥

Sales (units) 10,00 18 000
Selling price per unit (Ksh) 60 50
Variable cost per unit (Ksh)

Direct malenals 12 I5
Direct labour _ 8 ({1
Varable overheads 4 3
Annual fixed overheads (Ksh) 450 000 390 000

{1} For each product, determine:

(1) break-cven point in units;
(Ily  break-even pointin shillings;
(Il the current profit for the year.

(in}  Comment on the performance of the products.
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(itip  The firm intends to rebrand product X. This will increase the direct matenal
cost to Ksh 16 per unit. As a resalt, the sales volume will increase 1o 15,000 units.

(1) Calculate the expected profit.
(1)  Advize the management on whether to rebrand the product or not.
{12 marks)
’5’: {a)  Explain four functions of budgeting in an organization., {8 marks)

{b}  State Enterprises intends to invest in either product P or product Q. The projects have a
useful life of 4 years. The initial cash outlay for each project is Ksh 1,000,000,

The following information relates to the projects:

= Profits
Project P Project ()
Year Ksh Ksh
1 350,046} 300,000
2 480 000 TO0 000
3 170,000 2000 000
4 150,000 S0 000
= Estimated scrap value at the
end of year 4 200,000 300,000

The annual depreciation is Ksh 250,000,
(i) For each project calculate the:

(I  Accounting Rate of Retum (ARR);
{I)  Pay Back Period (PBP).

(i) Advise the management on the project to invest in. {12 marks)
6. - f(a) Expiain each of the following queneing systems:

(i)  Single channel single service point;
{ii}  Multiple channel single service point;
(i} Single channel multiple service poinis;
{iv)  Muliiple channel multiple service points.
(& marks)
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by Maoni Limited has three manufactunng points; M1, M1 and MII and three

warehouses; WIand WII and WIIL. The following are the per unit costs, in Kenya
shillings, of transporting the product from the plants to the warghouses;

Warehouses
Wl Wil win
Manufactoring plant
M f [0 2
M1l 0 4 5
MIII 12 b 3

The demand for the product in the warebouse is as follows:

Unit=z
Wi | 600
Wil 2500
Wil 3 A0

The production capacity for the plants are as follows:

Uniis
M1 4000
M1 2,200
M 1,700

Using the Vogel's Approximation Method (VAM):
i} prepare the transportation schedule that will minimize the costs

(i) determine the total minimum cost of ransportation,
{12 marks)
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7 ia) Crata Limited has two divisions; L and M. Division L manufactures components which
arc supplied to Division M at a transfer price of Ksh 80 per unit, Division M incurs
variable costs of Ksh 30 per component and then sells the component.

The followimg are the selling prices and their respective estimated demand levels for
¥ division M:
Selling price per unit Demand
Ksh Units
250 200,000
230 15 000
2000 39 000
155 42 000
in) For cach of the demand levels, prepare a schedule showing:
in sales:
(11} variable cosis;
(11y  transfer cost:
(V) contribution.
(i’ Determine the demand level that will maximize contribution for Division M.
9 marks)
i) Jupita Limited manufactures a single product which is sold at Ksh 250 per unit, During
the year ended 30 June 2018, 180,000 units were produced and sold.
The following information relates to the costs for the year,
ksh
(17 Production cost per wmit:
Direct materials i5
Direct labour 20
Direct expenses |
Vanable overheads i
(I Rales commission is 5% of sales.,
(1) Annual fixed costs: Ksh
Production 5,350,000}
Administration 10,540,000
Marketing 3,200 000
3103 2003/305 2906/305 7 Turn over
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(1) Prepare income statement for the year ended 30 June 2018, under marginal
costing method

(i} In order to increase the sales volume, the management has proposed the
following changes for the coming year:

= Reduce the selling price by Ksh 30 per unit.
=  Carry out a marketing campaign at a cost of Ksh 1 462,000,

i1 Prepare income statement based on the management’s proposal.

()  Advise the management on whether to implement the proposal or not,
{11 marks)
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